N & 0l & AF S & M M

20169 = =0 & LA =sAEH

SA SMEED

MM NEEADN(BAS/BADEUY)
ool MEHe (el @2)
- _ _ RE]
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Al 10,378,587
ANHsBEN (BB ES/3HBSAUB) 450,580 872,029 N421,449
= 27,000
& 34,600
Al 388,980
&l sk 2t e| 230,380 671,029 AN 440,649
= 5,000
o 3,500
Al 221,880
RSHATANEHS 193,800 236,349 AN42 549
201 et 9| 9,800 58,300 A 48,500
01 AP 2t 2] d| 7,300 55,800 A 48,500
OSBENMANSAYS 3o HAELH
70,000 x 7¥H = 23] 980
OXgo 212 |3 3o EFHAG
70,000 * 20¥ « 23| 2,800
OHAZYI WA 49
70,000 * 8 x 23] 1,120
OBA0I3E SHZFIIIAY 45
70,000 = 10¥ = 23| 1,400
OMESIEXMAIYE ZEEH 1,000,000 = 14! 1,000
02 2224 H| 2,500 2,500 0
OXNXIEH 2H&SHE23 gl
2,500,000& = 13| 2,500
203 R F & 1,000 1,000 0
03 AIZH =X 25 X H| 1,000 1,000 0
O=Me2 23 22 =F 1,000,008 * 14 1,000
303 ZA2 3,000 3,000 0
01 ZAZ 3,000 3,000 0
OSHsS sHEHEHI Aa2 3,000
— X2 1,000,000& * 200 A 2,000
— & 500,000 = 200 A 1,000
401 A& HI L E0HHI 60,000 60,000 0
01 Al&H| 60,000 60,000 0
SHES SFAAH EHIF AAFSH| 60,000
— X2 20,000,000 * 20 40,000
— & 10,000,000 = 2JH0 A&~ 20,000
403 XX SHHS K20 & 120,000 0 120,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 BI2SOHUSA=2EUEAIS Y 120,000 0 120,000
OYENS(gets)dsd X4
70,000,000 * 14! 70,000
OZ2ERAJIE R =82 ¢ HEH ME
50,000,000 * 14! 50,000
&l SHH S AL 19,880 14,680 5,200
201 fBt24Ay| 9,000 4,000 5,000
03 A2 G HI 9,000 4,000 5,000
O&tFold JIEAa &AL 2,000,000 = 14 2,000
O29Y J|EASHA} 2,000,000& = 1A 2,000
OB AEIEHE®R A AFAAY
5,000,000& = 1A 5,000
301 et A= 4,880 5,080 A 200
09 HAIAHI B A2 4,880 5,080 A 200
OX etolM21s AF & A X O |
90,000& * 4% * 43| 1,440
OstBAI & - S U3 =AW
90,000& = 169 = 13| 1,440
OIS S AF 1,000,000& = 23] 2,000
307 2iz2to| A 6,000 5,600 400
02 QIZHAAAIE E X 2,000 1,600 400
O=2E&H MHESES Al
2,500,000 = 14! = 80/100 2,000
04 QIZ2tSHAFAFS B X 4,000 4,000 0
OstdcHi, Jeleld ¥3as
4,000,000& = 13| 4,000
J2AEIEARA EEAMY X (2) 16,700 20,000 A 3,300
= 5,000
& 3,500
Al 8,200
307 2Iz2to| A 16,700 20,000 A 3,300
= 5,000
& 3,500
Al 8,200
02 QIZ2HA AAIE E X 16,700 20,000 A 3,300
OIS AEE A&d EEAMYE X
4,175,000€ = 43| 16,700
= 5,000
&< 3,500
Al 8,200
OfMsAlZ BES 220,200 201,000 19,200
= 22,000
== 31,100
Al 167,100
Ot SA 2 22 111,200 146,000 A 34,800
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Sl OHMSAS 25 CEEEED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
201 Bt 7,000 7,500 A 500
01 AP 22| H| 2,000 2,000 0

Os&Z2llol RotMsE2 FH 4223 7 1,000
— 82X, g, I 50,000& = 20 1,000
ORotMs=ES ZE &0 EA HZ
1,000& = 1,0004 1,000
02 =224 4| 5,000 5,500 A500
OKllotM=E2 TloiLXE ESH2
250,000& = 209 5,000
206 M EHl 7,200 3,600 3,600
01 X Z Hl 7,200 3,600 3,600
OKollotM =2 Ulof 2RI AEt 2¢
30,0008 * 20 * 122 7,200
301 et A= 21,000 20,000 1,000
11 JIEtE A= 21,000 20,000 1,000
OX1etL ZELAaZ 30,000 = 7000tel 21,000
307 2iz2to| A 4,000 4,000 0]
02 QIZIA AAIE E X 4,000 4,000 0
OOMEE PEHE AY N
4,000,000& = 2JHEtH = 50/10 4,000
402 SI2FXHE0| & 72,000 48,000 24,000
01 QIZEXIEAIE 2 X 72,000 48,000 24,000
OOtM=Z Ilol HYUAL(OIMMESES L2
Ol2tstHE Mi12=X) 72,000
—%%‘DHEEIA o ®II=H))
2,500,000 = 48J A = 60/10 72,000
OfMESAZ2ES L 22 (2) 44,000 40,000 4,000
= 22,000
= 6,600
Al 15,400
402 BI2H X 20| M 44,000 40,000 4,000
= 22,000
= 6,600
Al 15,400
01 QIZEXIEAIE 2 X 44,000 40,000 4,000
OOt =s=2 mofoe Ald
2,820,500 * 26014 = 60/100 44,000
= 22,000
& 6,600
Al 15,400
OIMESASES(T) 65,000 15,000 50,000
== 24,500
Al 40,500
101 @121 H| 56,620 6,620 50,000
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04 JIZtHZ2HEE+ 56,620 6,620 50,000
OMERIHOFAE A2 (JFAI T Z AL ) Ol 2
2,941,176& * 170 89S 50,000
< 20,000
Al 30,000
O0fds= ZA&E el
48,240% * 2F * 60 5,789
< 1,751
Al 4,038
O0fds= 2AMA 4HEE =S 4155008 * 2H 831
< 249
Al 582
206 i 2t 3,380 3,380 0
< 1,000
Al 2,380
1T M=l 3,380 3,380 0
Ottdss dgd dEF 7Y
1,690,000& * 14 1,690
< 500
Al 1,190
OtdsE 9ol # 5,000& = 338kg 1,690
< 500
Al 1,190
302 01 = HaH 2 & 2 5,000 5,000 0
= 1,500
Al 3,500
02 QIZtRITHOH R E 7 & a3 5,000 5,000 0
OOt sE Ildls 243
100,000& * 50A 5,000
< 1,500
Al 3,500
oleeEe (#A25/01D) 819,098 945,001 A 125,903
= 273,500
J| 27,000
< 115,550
Al 403,048
s#ExH 774,284 887,543 A 113,259
= 273,500
J| 27,000
< 115,550
Al 358,234
molegaze 97,284 130,343 33,059
201 ¢er24l 46,784 49,843 A 3,059
01 At 22l 9,410 8,710 700
O X= XtHHH = Ot 2 Hs ¥ ods 1,200
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-3 150,000& * 3%¥ 450
—ot= 150,000& * 3%H 450
— Ot& St 100,000 * 3H 300
OtgdiE 23 28 Re= MH
200,000& * 5& 1,000
OUIl,=&2S Q=53 4A2E F¢ 2,510
— W O 2t X 70,0002 » <A 210
— CO/HCE H 100,000& * 29+ A 200
— HICI23t0l et (B0l =, 15Xl )
200,000& » 12+A 200
—HXANZHF O X 100,000& * 1A 100
—24H AlE ZHH A2 30,0003 x 30 A 900
— &L AZHFH I 2L
3,000 » 300&A 900
O4&H 2 22| 1,000,000 * 13l 1,000
OJI=ds g 2l 1,000,000& * 13| 1,000
OEAZAEN 24| 1,000,000& * 23| 2,000
Ol XN F4 Q1201 =&
70,000& = 1H = 103l 700
02 3323l 37,374 41,133 A3,759
OUIIANEMF X (9BE3595, 858 ,837)
=Xl 1,313& = 1504 =« 123 2,364
OUIINZHH X2 (96X3595, 58 S5E) +=2l
S 200,000& =« 1CH 200
oo, =& s &L S 1,800
— I =E EH| 200,000& * 138 200
— CO/HC= & DI 100,000& * 13 100
- 23=E| 200,000& * 138 200
—UIIAZ2 DI 300,000& = 13 300
— HICI23t0 2t 200,000& * 138 200
—PHEE DI 300,000& = 15 300
— ol 7= 200,000& * 13 200
— s 300,000& = 1& 300
OIS NEHETH AL =2 970
— CO/HCE & DI 100,000& * 1CH 100
— A, ASFEHDI 100,000 * 2CH 200
—=SANEHHEH 600,000& = 1CH 600
— BICI 2302t 70,000& = 1CH 70
OWIILEXNsSE=EL ALEd RXH 24,000
— S XAzteldl 18,000,000& * 14 18,000
— =4 6,000,000& = 14 6,000
Ol =s=E3Y 282 40,0008 » 128 480
OIILENSE=EY SRS
400,000& = 12& 4,800
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OI2ENs=EL HIILS
230,000& = 12& 2,760
301 et 8= 50,500 500 50,000
1M1IIEBESS 50,500 500 50,000
OH=e0EXMel(AXE) 5,000,0008 * 10 50,000
Odgd ] ZT&z 50,000& = 10A 500
IZHSHS AL (2) 48,400 46,000 2,400
= 24,200
< 7,300
Al 16,900
301 LAz 48,400 46,000 2,400
= 24,200
< 7,300
Al 16,900
1MIIEESS 48,400 46,000 2,400
OSHAZEN 29 20,000& = 2,420MICH 48,400
= 24,200
< 7,300
Al 16,900
ZHOIEMXZ(2) 553,600 571,200 A 17,600
= 226,800
< 100,000
Al 226,800
301 et a = 553,600 571,200 A 17,600
= 226,800
< 100,000
Al 226,800
MIEEd=s 553,600 571,200 A 17,600
OsdioIEXME X XNSHE At
4,100,740 » 1353 553,600
= 226,800
< 100,000
Al 226,800
SdIol 2HSH X=(=) 30,000 140,000 A 110,000
J| 27,000
< 1,500
Al 1,500
301 et d s 30,000 140,000 A 110,000
J| 27,000
< 1,500
Al 1,500
01 MEI2EZE 05z 30,000 140,000 A 110,000
O&dIloh 2HM=0 XIS  6,000,000& » 5H 30,000
J| 27,000
< 1,500
Al 1,500
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Al 15,750
401 Al I 28I 45,000 0 45,000
= 22,500
< 6,750
Al 15,750
01 A& 8l 45,000 0 45,000
omrI=zad == 45,000,000& * 14l 45,000
= 22,500
< 6,750
Al 15,750
S$EMNERES 44,814 57,458 N 12,644
BIMNERES 2> 44,814 57,458 N 12,644
201 LBH2E| 44,814 42,814 2,000
01 At 22l 3,350 1,350 2,000
SEEDIET=E 1 e
2 x5 A« 23] 600
OBANHLLS B2 HUS HE
50& = 15,0000H 750
OBIMHRYD H4t 29
1,000,000& * 23 2,000
02 33224l 41,464 41,464 0
OZMERE=Z 2 39,600
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* 28,0004 * 23] 16,800
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Al 5,551,706
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EMeld=2d 73,889 57,803 16,086
201 LBt 67,089 51,003 16,086
01 At 22l 43,880 27,655 16,225
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OHELHAY YRe AN
003 * 43| = 10f A 3,600
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OMEE HIIZA 5,000,000 = 14l 5,000
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OFE4+HUF 22N HY= 7
100,000& = 1H =« 23| 200
OFE4+HUF 22T AFE 7
100,000& = 1 «~ 12/ 100
02 =24l 23,209 23,348 A 139
OArE g MHJINEE IS 14,400
—OtX s, 37| 500,000& * 20 A  12& 12,000
- &, B4 100,000& » 204 « 128 2,400
OBZE+HMeF(0IX) 4223
40,000& = 12& 480
OFB&=HMelZ(0tXl) 2elM BELA(ER)
937& * 3004 * 48 1,125
OEgd KXYl 92,000& » 104 92
O&EE=HMelAIZ(0tX) A2l 5,000
—E20,d33 . 8EHE S
5,000,000& * 14l 5,000
OOtXls &Ml SHALAH JHUMER
176,000& » 128 2,112
206 M= Hl 6,800 6,800 0
01 M= 4l 6,800 6,800 0
OLE & WAL ¢ 500,000& * 43 2,000
O#E4HE A%E 7Y
100,000& » 4& = 128 4,800
HE &= FHIAY 1,260 483,928 A 482,668
201 et 1,260 1,260 0
01 At 22l 1,260 1,260 0
OJI=284AR3s 4 =&
70,000& * 6% 33 1,260
Mol ™el 5,545,245 4,730, 140 815,105
= 51,000
< 49,000
Al 5,445,245
HESEXAY 1,800 7,100 5,300
201 Let24E] 1,800 1,800 0
01 At 2t 2l 1,800 1,800 0
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OMYIIEYEEIZE E2E2 MA
30,0003 = 40& = 23| 2,400
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100,000& = 1000 = 43l 4,000
OMYDIEYESIIZE 82 A
60,0003 = 5014 + 53 1,500
02 =224l 1,950 1,950 0
OXe IS S ZAI2t0ct OI&HI S
300,000& = 204 = 33l 1,800
OMYIIEYEIl ZAl3t0et sl& 0ldHE
25,0004 = 204 = 33l 150
301 et Aa 3z 500 500 0
1MIIEESS 500 500 0
OMEDISE ST &0 Z&F
20,0003 = 259H 500
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100,000& = 8Y « 12l 800
—EYRN 22X M=
100,000& = 8Y « 13l 800
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O LEHl Sl 2,200
—OlF20, &=d 100,000& * 220H 2,200
O&FAX & KXl 139,918
—9543690(UEstE, AKX, &R)
1,313& = 6004 » 12& 9,454
—96X9006(HHEstE, EE+Halx, &R)
1,313& = 4004 = 12& 6,303
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—82AH9%B7I(HE S e, “HIBEHAX, ER)
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OLHAUZTHAIL HYE £7¢ 16,500
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- & 10,0002 * 4204 420
— PPEDH 300& = 5,0000H 1,500
— =32 Ot 300& = 25,0000H 7,500
— SR 6,000& = 4201 83| 2,016
— JIEH( MO0l S) 2,000&8 * 4298 = 128 1,008
OAMIZt H=X2lAlE HUAEH 7 S
300,000& = 33l 900
Mgl E el (ME 2 SAZ) 4,576,886 3,773,460 803,426
101 1A bl 39,558 18,750 20,808
04 JIZHHZ2Z2XNHESE S+ 39,558 18,750 20,808
OctEI SASRHEIIS=EEI HMA 20,262
—Jles 48,240% * 48 * 90 17,367
- =54 48,240 * 4H * 12 2,316
—dsssit=¢ 48,240 * 4H + 3¢ 579
OJE ME Al =EXY JtzH AU
48,240 * 2002 * 29H 19,296
201 2yt 2 Y| 9,660 11,460 ~1,800
01 At 22l 7,500 7,500 0
OSAMERHIIZE 2el=H E22 ME
50& * 50,000MICH = 33 7,500
02 2324l 2,160 3,960 A 1,800
OSddeA dIIe=s
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42 000 = 9004 37,800
OZelotA &4FEUXH 2
100,000& = 304 3,000
207 I & d| 55,000 8,000 47,000
01 A& | 55,000 8,000 47,000
SAMZSFHIIES =8 2S06F QI2HAE IR A
=29 25,000,000 = 14l 25,000
OSAZSRHIIS ZMAN HE =8 224
10,000,000& = 14l 10,000
OMEHIIS &0 M DI2Asie B}
29 10,000,000& = 14l 10,000
OSAESHIIZ2 Ml |IIEAN 84
10,000,000& = 14l 10,000
307 QI2t0| & 4,098,568 3,686, 150 412,418
05 QIZtR E 2 4,098,568 3,686, 150 412,418
OMEMY D EAU0E S
4. 1042 = 48, 100MICH ~ 12€ 2,368,829
OsSAZEMNY D 28 € X2l It E2H Y| 1,460,000
— 28t 26,000& = 10,000& 260,000
— Xl 120,000€ = 10,000 1,200,000
OSAESFHIIE A=
3,825%& * 17,630AMICH = 4& 269,739
401 Al HI L 2 0HHI 330,000 5,000 325,000
01 Al& H| 330,000 5,000 325,000
OYUXIHIIZ AELHeIH(SYO0E &)
1,000,000 = 5& 5,000
OZelotA &K 15,000,000& = 5JH A&~ 75,000
OZEZe SAS M| AFID JlEtE
2,500,000& * 100CH 250,000
MHDIISHHSE 2l 370,147 357,447 12,700
201 gBt2Ad| 8,500 14,500 A 6,000
01 AP 2t 2| H| 8,500 14,500 A 6,000
QHJI2Xdel=s ME(mE) 500 = 5,0000H 2,500
OMe o SAZIE ZSEHMH Al =8 6,000
—2ls S 222 WA
400€ = 5,00000 * 3= 6,000
206 M = dl 311,400 292,700 18,700
01 =4l 311,400 292,700 18,700
OMYIIESEHM dE2sE HE 207,900
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— MEMy D 604,110,000& * 6% 36,247
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< 3,000
Al 7,000
301 et a3z 10,000 10,000 0
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Al 7,000
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o=} 21,000
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401 Al HI L £ 0HHI 100,000 75,000 25,000
= 30,000
& 21,000
Al 49,000
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= 30,000
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Al 49,000
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A0 3R 2L 31,312 25,942 5,370
201 2Et24Hy| 22,057 21,357 700
01 AP 2t 2] H| 2,510 1,610 900
OMEHIIE =H, 4 2 UE g
409 = 2,5000 ~ 10= 1,000
OZ0I3 AR HASE & ADHd 22
2 100,000 = 43| 400
O&td0lsta g5¢ 1,110
— ZEIj 100,000 = 79 700
— S8 60,000& = 1JH 60
— 20 50,0008 = 7H 350
02 Z2=2=24%4| 19,547 19,747 A 200
OEtHEDISE AIRA 2 XX AlE2e
1,000,000& =* ZJH_)A: 2,000
OEHDISE AIRA L MIXAIE HIL=2
1,000,000 * 12& 12,000
OEHEDISE AIRA Mot 2
130,000 * 12& 1,560
OFtHDISE XTDX HEAIAE FHAAES
176,000 * 12& 2,112
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SM: SMERD
B 9 M4 B2 (BPLS/MEAT - +3)
el amael (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O35 &a RANE |
1,000,000 * 20JH A&~ 20,000
O2s&a HIIe=2 300,000 ~ 12& 3,600
Oet=2sHAEIH (ZSstEA2elH Mi15X9
2) 500,000 = 14! 500
OXHsEFEAE KA H|
1,000,000 * 25 * 23| 4,000
207 I & d 20,000 0 20,000
01 A2 EHH| 20,000 0 20,000
Eo a2 2HSEAS L ALY
ARy 20,000,000 * 14! 20,000
307 giztol A 3,294 3,285 9
05 QIZtR ES 3,294 3,285 9
ORL+TSUUHYAN F4D22
100 = 90&E ~* 366 3,294
=AU A A 2L 66,206 36,717 29,489
101 Q124 H] 1,206 1,116 90
04 JI2ZtHIZ22NEE S 1,206 1,116 90
OstHA ALY gl
48,2403 « 5 x 5 1,206
201 LBt 3,000 3,601 A 601
01 AP 22| H| 1,400 1,400 0
OEtEAEAAND 2H HEE ELHYE
200,000 = 4H 800
QEtELAAILD £=5ZHIYX 300,000 = 23| 600
02 22244 1,600 2,201 A 601
OS2 AD HE(otE2ZAIZTA) H2HI 1,600
—HZH(SE®,.88)
937 * 8AI2F = 100¥ = 204 1,500
—22lHl(=g) 50,000& * 2CH 100
206 M = dl 12,000 12,000 0
01 X2 4| 12,000 12,000 0
OYgH2EE 7 12,000
—QgaElA 25,000& * 80m 2,000
— 2% EH| 200,000& * 504 1,000
—QUSIH 1,600,000 = 5= 8,000
—-JIEEg&X 100,000& * 1082+A 1,000
207 I & 50,000 20,000 30,000
01 A& | 50,000 20,000 30,000
O F=Al JiE2R 22 J)I2HE =8
50,000,000& * 14l 50,000
DESITAMAAI (Z) 300,000 169, 000 131,000




SM: SMERD
B 9 M4 B2 (BPLS/MEAT - +3)
el amael (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 90,000
Al 210,000
401 Al HIZ 201 I 300,000 169,000 131,000
< 90,000
Al 210,000
01 A& HI 297,840 167,479 130,361
SSSHEA A
300,000,000 * 1JH4 * 99.28/100 297,840
< 90,000
Al 207,840
03 AIE S THHI 2,160 1,521 639
SSEY HHAY
300,000,000& = 1JHA * 0.72/100 2,160
A MEStESE A () 410,000 456,667 A46,667
X 246,000
< 61,500
Al 102,500
401 Al HIZ 201 I 410,000 456,667 A46,667
X 246,000
< 61,500
Al 102,500
01 A& HI 407,048 453,790 ANA6,742
O=HE dHGte S ALY
410,000,000& * 14l * 99.28/100 407,048
Xl 246,000
< 61,500
Al 99,548
03 Al S THHI 2,952 2,877 75
O=H& dMEotd S3AE
2,952,000& = 14 2,952
HE2A LM (S22 D) (JIEH/IIE) 2,242,440 2,090,062 152,378
ol 2dH| 2,092,894 1,932,902 159,992
ol 2AY| 2,092,894 1,932,902 159,992
101 @14 Hl 2,092,894 1,932,902 159,992
03 RIHAZ 22+ 2,092,894 1,932,902 159,992
OgZ0lsd o=y 2,057,684
-Jigs17s8)
1,481,490& » 42% » 128 746,671
—Jlz=g 1,074,271,000€ /128 * 200% 179,046
— ¥4y
1,074,271,000& /128 * 45% » 23| 80,571
— M= 1,074,271,000& /128 * 250% 223,807
—S=gfe 90,000 = 42% = 12& 45,360
—Ag¥AsE 70,0003 = 4298 « 123 35,280
— ZAg A 160,000& * 429 » 12& 80,640




SH =MEHD
M. HNSHBH (SMSH ) (IIEHDIE
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— WEZXH| 140,000 = 42% « 12€ 70,560
— JIAI 2 & H| 110,000& = 42% » 12& 55,440
- 50,000 = 42% * 12& 25,200
— MG 30,000& = 429 » 12& 15,120
— JIELSS (WS X)) 40,0008 « 30 * 12& 14,400
—JIE&Y(DIE}) 20,000& = 429 * 12& 10,080
— Y& S|
1,074,271,000& /128 * 60% * 23| 107,428
—AZ2tz224
15,2983 * 150% * 20Al2F = 23 * 12& 126,668
— 52422
76,4903 = 150% » 23YH x 60 158,335
— RIS
122,3843 = 429H * 15 77,102
— NESHIEX S 5,976
nE=a-=iam} 298,800 * 5% = 43| 5,976
O=td0Ig& m=H| 23,100
-== 100,000 * 42% * 1= 4,200
— o= 100,000 * 42 * 1= 4,200
- 29 30,000 = 42 « = 1,260
— &5 50,000& = 42H * 1= 2,100
— & 50,000 = 42 * & 2,100
— OFAM X7 20,000& = 42YH * 1= 840
— 43S X)) 100,000 * 429 * 1= 4,200
— 2R 100,000& * 42 = 1= 4,200
QAN MM BAH| (S ) 8,610
— &Y HEESH(LAE S)
30,000& * 42H * 13| 1,260
—sgA2dHA 350,000€ * 21 = 13 7,350
O&tZdilstad BUEAXN S&X] AS
500,000 * 7 % 13 3,500
Jl2&Hl 149,546 157,160 NT,614
Jl23Hl 149,546 157,160 ANT,614
201 et Y| 28,226 30,660 N2,434
01 AR 22l ] 28,226 30,660 N2,434
O=AMEXN 7 15,000& * 288tA x 12& 5,040
OEZua gl 6,000& * 64! x 28 * 12& 12,096
Ot 100,000& * 12&€ 1,200
OLAR T AHAFLH 50,000& * 12& 600
O =464 7,610
— EAMI £ (AE™) 500,000& = 1.504 750
— T2l %2 100,000 = 4CH = 50/100 200
— SA EY 200,000& * 53 * 1.504 1,500
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SH =MEHD
H: HHE2FAH (SMHSF D) (IIEHIIE)
¢l =gl CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—ODBH EU(S) 200,000% * 53] * 404 4,000
—PC =cl 100,000& = 28CH = 20/100 560
— JIEt =2l 50,000& = 12& 600
OJIE AP 2t2lH] 5,000& = 28% * 12& 1,680
202 04l 115,920 120,000 A 4,080
01 = LH YI 115,920 120,000 A 4,080
O=MsZn ARF2 ol 115,920
— 2t 04 dI 20,0003 =+ 28% * 12 « 128 80,640
— 220yl 90,0003 = 28H » 14« 35,280
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLHI 350,000& * 12€ 4,200
204 HR=HAH| 1,200 1,200 0
01 Mg 1,200 1,200 0
OXNMIUDL A (SHBLYE)
100,000& » 18 = 128 1,200
WS (=420 (#EEBS /402 - +=3) 1,331,126 688,500 642,626
HEAHHK = 1,331,126 688,500 642,626
LHEHeH X = 1,331,126 688,500 642,626
701 JIEtSI HSEES 860,440 688,500 171,940
01 JIEteI HE == 860,440 688,500 171,940
TEINEELH HES 860,440
— QTN AHEAE HE A
40,000,000& * 14l 40,000
— S3ot=HelAE 2 22 Y
266,400,000 * 14 266,400
— 3ot AIE 2 XA
7,000& = 500m * 100 2 35,000
— S3ot=HMElAlE MaE =cl=4H
7,500,000 * 3700 A& 277,500
—33ot=HelAlE BEE =244
3,000,000 * 3700 A& 111,000
—330t=HMelAlE s X HMeldl
380,000 * 604 & 22,800
~2BIALHLAANL SHAN 242
85,000& = 37002 * 128 37,740
— OtSot=HelAlE 23l
70,000,000& * 14l 70,000
702 JI=s8ES 470,686 0 470,686
(RPIEF=RSE<t= 470,686 0 470,686
OHIJISHMEANEF=HFLUXNAIIS HES 470,686
- AAXHHNEH= 400,000,000& * 14l 400,000




2N
X ZH -
L= B

el

=MD
WRES(SM8AD) (FYLS/M5t4E - 23)

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

—dEE MYIISSEHOHY 10/100(H ==
ol M6x HM3%) 630,680,000& * 10/100
—dEE HII2™Med+==22 10/100(H &=
dl Mex HM2&) 76,178,000& * 10/100

63,068

7,618




